Find the followmg limits

X

1 lim
.Q‘ x—0 tan x




Y S
ﬂ Evaluation of 1* :

W X

¥ lim |I.1+ L =e
o+ e S
E £ ) . .
7 lim (1+x)™ =e
X—3»00

General Method to solve :

E(x lim ——
= lim f(x)=lim g(x)=0, then 1]'111_[1_WEE33

X—ra X—ra

j Iflim f(x) =1
X—*a

lim g(x) = thep Lim[ f(x)F®™ =ex

. L Lm 'mﬂﬂ)
A=A |
B 2
2 Lim (14 21{1 - &
Lo
) S
1 £(x) e%‘?b N
X0 2
= &
—

lim [£(x)-1}e(x)

E—+a
—

©

|



Evaluation of the limit form 0°, 0%, or «°:
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{Saudwich theorem or squezze play theorem :
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Sandwich theorem or squezze play theorem
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End of Lecture
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